19.1  Entropy -
__Entropy a Measure of Spontaneity? ...

Frrrery (9): 0 seasure of disorden ond the natusol

Euf:ﬂm ancons Trotess . OYumwgdst 20
NSunwens? = [asysten + &Hamwﬁwﬁa 50

¥ e as fans e hoew dleY Bekeopy though nel Gy e !
 Hon offen pee ou Yold Yo Yidy youg R % W i exentrudly did
¥ it Took Tk and eRoal anly h&"lt X Qecome 0 Hess agaim i «1&1&3
Ritde eRoet 3&% &id we \mw Qack Yhen Y ¥ 1S o W8 wim Ml?e

0§ e sehe J?g__»m ENTROPY !
3" Lov of hemmts .

E‘IS}EF“-\ E.‘:'H =

| ﬁﬂ ﬁﬂh'm": 5-.‘('&?13_

~ fandamey of ol anéa Yo Qecame émﬂéﬂaad' o

™ %n‘rm&g ok g ?w: enjstodwe



19.1 Entropy

Trends in Entropy
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Entropy
Trends in Entropy

Which of the following would you
expect to have the highestentropy?
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b) Al(s)
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Which of the following would you
expect to have the smallestentropy?

b) MgO(s) /

- a) NaBr(s)
d) NaF(s)

c) NaCl(s)
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19.2  Calculating Entropy Change
Standard Entropy Change for a Phase Change
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Calculate the entropy change when 3.48 moles of ether e a1 b2
condenses at its boiling point of 34.6 °C. = c)3 d4
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19.2  Calculating Entropy Change
Entropy Changeinthe Surroundings &+
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19.2  Calculating Entropy Change
Entropy Change in the Surroundings

Consider the reaction N,(g) + 2H,0(]) = 2NO(g) + 2H,(g)
for which AH° = 752.2 kJ and AS° = 351.6 J/K at 298.15 K

a) At298.15 K s this reaction product or reactant favored?
b) Is the answer to a) entropy or enthalpy driven?
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